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Section : General Knowledge

Q.1 The National Rice Research Institute is located at in Odisha.
Ans 4 1. Cuttack
X 2. Puri

#< 3. Sambalpur

& 4. Koraput
Question ID : 264330181277
Option 11D : 264330711033
Option 2 ID : 264330711034
Option 3 ID : 264330711032
Option 4 ID : 264330711031
Status : Not Answered
Chosen Option : --
Q.2 In how many phases was the 2011 Census conducted in India?
Ans X 1.0ne
5 2. Four
" 3. Two
& 4. Three
Question ID : 264330130587
Option 1 ID : 264330511461
Option 2 ID : 264330511462
Option 3 ID : 264330511459
Option 4 ID : 264330511460
Status : Not Answered
Chosen Option : --
Q.3 means avoiding imports of goods which could be produced in India.
Ans X 1. Economic growth
& 2. Modernisation
" 3. Self-reliance
& 4. Equity
Question ID : 264330110174
Option 1 ID : 264330432975
Option 2 ID : 264330432974
Option 3 ID : 264330432976
Option 4 ID : 264330432973
Status : Answered
Chosen Option : 3




Q.4 In plants, which hormone helps the cells to grow longer?
Ans X 1. Cytokinin

75 2. Jasmonate

#5 3. Ethylene
" 4. Auxin
Question ID : 264330134882
Option 11D : 264330528463
Option 2 ID : 264330528464
Option 3 ID : 264330528465
Option 4 ID : 264330528466
Status : Answered
Chosen Option : 3
Q.5 What are the compounds in food that induce the growth or activity of beneficial gut
microorganisms called?
Ans X 1.Abiotic
X 2. Postbiotics
¥ 3. Prebiotics
75 4. Antibiotics
Question ID : 264330120924
Option 1 ID : 264330473911
Option 2 ID : 264330473913
Option 3 ID : 264330473912
Option 4 ID : 264330473914
Status : Answered
Chosen Option : 3
Q.6 Which of the following social reform organisations was established in Madras in 18647
Ans  # 1. The Veda Samaj
#5 2. The Arya Samaj
#5 3. The Brahmo Samaj
#$ 4. The Prarthana Samaj
Question ID : 264330114117
Option 1 ID : 264330448554
Option 2 ID : 264330448556
Option 3 ID : 264330448553
Option 4 ID : 264330448555
Status : Not Answered
Chosen Option : --
Q.7 YgT B BUTE & ATAY A F9 9% GRT JeTT T IS B PeT o el
Ans X 1. IJWHINIT 9O (Fiscal Balance)
& 2. A (Profit)
o 3. THUT UdTH (Seigniorage)
#5 4. QoI (Treasury)
Question ID : 264330112464
Option 1 ID : 264330441943
Option 2 ID : 264330441944
Option 3 ID : 264330441942
Option 4 ID : 264330441941
Status : Answered
Chosen Option : 3




Ieifaes TfeRT T TART B & fore g1y frerre €, Y 59 1 e wiran 872
o 1. TSYT TPR

X 2. 9gHd T B WDHR

Ans

Q.8 9 H3 IS UIfEaTl Ta 3 WAl FTIHH F TAS & YR W TBR T 3R

X 3. Pufd WHR
X 4. Ty yume!
Question ID : 264330173521
Option 11D : 264330680564
Option 2 ID : 264330680565
Option 3 ID : 264330680566
Option 4 ID : 264330680563
Status : Answered
Chosen Option : 1
Q.9 Who among the following Bharatanatyam and Kuchipudi dancers received the Padma
Vibhushan award in the year 20167
Ans X 1.Alarmel Valli
#5 2. Padma Subrahmanyam
#5 3.Aparna Satheesan
" 4. Yamini Krishnanamurthi
Question ID : 26433071522
Option 11D : 264330280514
Option 2 ID : 264330280512
Option 3 ID : 264330280513
Option 4 ID : 264330280515
Status : Answered
Chosen Option : 4
Q.10 Who among the following was the founder and director of Darpana Academy of
Performing Arts?
Ans  # 1. Mrinalini Sarabhai
5 2. Kumari Kamala
Z5 3. Yamini Krishnamurthy
#5 4. Rukmini Devi Arundel
Question ID : 264330111200
Option 1 ID : 264330436886
Option 2 ID : 264330436887
Option 3 ID : 264330436885
Option 4 ID : 264330436888
Status : Not Answered
Chosen Option : --
Q.11 Who among the following fought the Mughal emperor Babur in 1527 at Khanwa?
Ans X 1.RanaAmar Singh
#5 2. Rana Pratap
4 3. Rana Sanga
#5 4.Rana Raj Singh
Question ID : 264330183100
Option 11D : 264330718133
Option 2 ID : 264330718135
Option 3 ID : 264330718134
Option 4 ID : 264330718132
Status : Answered

Chosen Option : 3




Q.12 Sheema Kermani is associated with which of these dance forms?

Ans

¥ 1. Bharatanatyam
5 2. Kathakali
#5 3. Mohiniyattam

< 4. Sattriya
Question ID : 264330109298
Option 1 ID : 264330429471
Option 2 ID : 264330429470
Option 3 ID : 264330429469
Option 4 ID : 264330429472
Status : Not Answered
Chosen Option : --
Q.13 In which of the following years did the peasant movement in Bardoli take place?
Ans X 1.1918
" 2.1928
& 3.1916
& 4.1934
Question ID : 264330112410
Option 1 ID : 264330441726
Option 2 ID : 264330441727
Option 3 ID : 264330441725
Option 4 ID : 264330441728
Status : Answered
Chosen Option : 2
Q.14 In which of the following years was the SFURTI scheme launched by the Ministry of
Micro Small and Medium Enterprises?
Ans  # 1.2005
X 2.2003
75 3.2009
& 4.2007
Question ID : 264330116546
Option 1 1D : 264330458270
Option 2 ID : 264330458269
Option 3 ID : 264330458272
Option 4 ID : 264330458271
Status : Not Answered
Chosen Option : --
Q.15 In an ecosystem, which of the following is/are autotrophs?
Ans X 1.Fishes
5 2. Earthworms
#< 3. Sunlight
" 4. Plants
Question ID : 264330117610
Option 1 ID : 264330462467
Option 2 ID : 264330462468
Option 3 ID : 264330462466
Option 4 ID : 264330462465
Status : Answered
Chosen Option : 4




Q.16 Which of the following Articles of the Constitution of India deals with the National

Commission for Scheduled Castes?

Ans 4 1. Article 338
X 2. Article 335
X 3. Article 336

< 4. Article 337

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :

Chosen Option :

264330110592
264330434645
264330434648
264330434647

1 264330434646

Answered
1

Q.17 Which of the following international organisations was founded in 1995?

Ans X 1.International Labour Organization
& 2. International Monetary Fund
" 3. World Trade Organization

< 4. World Bank

Question ID : 26433066623
Option 1 ID : 264330261018
Option 2 ID : 264330261016
Option 3 ID : 264330261019
Option 4 ID : 264330261017
Status : Answered
Chosen Option : 3
Q.18 When is Guru Nanak Jayanti celebrated in India as per the Hindu lunar calendar?
Ans  # 1. Kartika Poornima
#< 2. Paush Poornima
#5 3. Paush Amavasya
X 4. Kartika Amavasya
Question ID : 264330110463
Option 1 ID : 264330434130
Option 2 ID : 264330434131
Option 3 ID : 264330434132
Option 4 ID : 264330434129
Status : Answered
Chosen Option : 1
Q.19 Who among the following is NOT a shehnai player?
Ans 1. N Ramani
#5 2. Krishna Ram Chaudhary
< 3. AliAhmad Hussain
& 4. Bismillah Khan
Question ID : 264330111940
Option 1 ID : 264330439845
Option 2 ID : 264330439847
Option 3 ID : 264330439848
Option 4 ID : 264330439846
Status : Answered
Chosen Option : 2




Q.20 HgTew =T Hutht (epeirogenic) Ufshar w872
Ans X 1. 398 YoUd ufeeT &1 afa See i g1
X 2. 3T A BT U 3Heq Iaa AT g
X 3. 399 TEH! BT TR 3fed JaeH e g
o 4. 30 YOS & 9 R &1 I A7 S M g

Question ID : 264330118517
Option 1 ID : 264330465472
Option 2 ID : 264330465471
Option 3 ID : 264330465469
Option 4 ID : 264330465470
Status : Not Answered
Chosen Option : --
Q.21 The English novel ‘Heart of Darkness’ was written by which of the following authors?
Ans X 1. Herman Melville
" 2. Joseph Conrad
/< 3. Charles Dickens
#5 4. Edgar Allen Poe
Question ID : 26433055372
Option 1 ID : 264330216475
Option 2 ID : 264330216472
Option 3 ID : 264330216474
Option 4 ID : 264330216473
Status : Not Answered
Chosen Option : --
Q.22 Which of the following pairs of cities is connected by Sher-Shah Suri Marg?
Ans X 1. Mumbai-Bengaluru
o 2. Delhi-Amritsar
25 3. Delhi-Jaipur
& 4. Delhi-Mumbai
Question ID : 264330180512
Option 11D : 264330708018
Option 2 ID : 264330708016
Option 3 ID : 264330708015
Option 4 ID : 264330708017
Status : Answered
Chosen Option : 2
Q.23 ‘Aamar Jiban’, is the autobiography written by an Indian woman. Who was she?
Ans X 1. Sarojini Naidu
«# 2. Rassundari Devi
#5 3. Sucheta Kriplani
& 4. Annie Besant
Question ID : 264330112863
Option 1 ID : 264330443539
Option 2 ID : 264330443537
Option 3 ID : 264330443540
Option 4 ID : 264330443538
Status : Not Answered
Chosen Option : --




Q.24 Two compounds with the same molecular formula but different structures are known

Ans

as:

" 1. structural isomers
& 2. isotopes
X 3. valencies

5 4. allotropes

Question ID : 264330177015
Option 1 ID : 264330694255
Option 2 ID : 264330694256
Option 3 ID : 264330694258
Option 4 ID : 264330694257
Status : Answered
Chosen Option : 4
Q.25 Community Development Programme was under the Five-Year Plan in
India.
Ans X 1.Third
& 2. Fourth
& 3. Second
o 4. First
Question ID : 264330120208
Option 11D : 264330471088
Option 2 ID : 264330471090
Option 3 ID : 264330471087
Option 4 ID : 264330471089
Status : Not Answered
Chosen Option : --
Q.26 Which of the following countries never hosted the Asian Games till 20227
Ans o 1. Pakistan
& 2. South Korea
X 3.China
X 4. Japan
Question ID : 264330132518
Option 1 ID : 264330519170
Option 2 ID : 264330519169
Option 3 ID : 264330519167
Option 4 ID : 264330519168
Status : Answered
Chosen Option : 2
Q.27 Which of the following writs are issued only against judicial and quasi-judicial bodies?
Ans X 1. Mandamus and Certiorari
«# 2. Prohibition and Certiorari
#5 3. Habeas Corpus and Mandamus
75 4. Prohibition and Quo-Warranto
Question ID : 264330110795
Option 1 ID : 264330435459
Option 2 ID : 264330435460
Option 3 ID : 264330435457
Option 4 ID : 264330435458
Status : Answered
Chosen Option : 4




Q.28 What was the subject under investigation for setting up the Hunter commission in

Ans

188272

& 1. Famine
5 2. Agriculture
#5 3. Industry
" 4. Education

Question ID : 264330120296
Option 1 ID : 264330471438
Option 2 ID : 264330471435
Option 3 ID : 264330471437
Option 4 ID : 264330471436
Status : Answered
Chosen Option : 4
Q.29 Pandit Birju Maharaj was a legendary dancer, who opened his dance school
‘Kalashram’ in New Delhi.
Ans o 1. Kathak
5 2. Odissi
#< 3. Bharatanatyam
X 4. Kathakali
Question ID : 264330111964
Option 11D : 264330439942
Option 2 ID : 264330439941
Option 3 ID : 264330439943
Option 4 ID : 264330439944
Status : Answered
Chosen Option : 1
Q.30 Who among the following Muslim social reformers propagated his ideas through a
magazine ‘Tahdib-ul-Akhlaq’?
Ans X 1. Muhammad Qasim
5 2. Rashid Ahmad
75 3. Ghulam Ahmed
«# 4. Syed Ahmed Khan
Question ID : 264330120310
Option 11D : 264330471492
Option 2 ID : 264330471494
Option 3 ID : 264330471493
Option 4 ID : 264330471491
Status : Answered
Chosen Option : 2
Q.31 Which are the most explosive of the earth’s volcanoes?
Ans 1. Caldera
#5 2. Composite
25 3. Mid ocean ridge
& 4. Flood basalt
Question ID : 264330134901
Option 1 ID : 264330528540
Option 2 ID : 264330528539
Option 3 ID : 264330528541
Option 4 ID : 264330528542
Status : Not Answered

Chosen Option :




Q.32 KV Prasad, SV Rajarao, Umalayapuram Sivaraman, Palghat Mani lyer, Karaikudi R Mani

and Palghat Raghu are noted players of which of the following instruments?

Ans X 1. Pakhawaj
5 2. Sarangi
< 3. Ghatam
" 4. Mridangam
Question ID : 264330144041
Option 1 ID : 264330564429
Option 2 ID : 264330564430
Option 3 ID : 264330564427
Option 4 ID : 264330564428
Status : Not Answered
Chosen Option : --
Q.33 How many types of writs can be issued to protect the Fundamental Rights?
Ans X 1.2
K 2.4
&< 3.3
W 4.5
Question ID : 264330173494
Option 1 ID : 264330680455
Option 2 ID : 264330680457
Option 3 ID : 264330680456
Option 4 ID : 264330680458
Status : Answered
Chosen Option : 4
Q.34 The Charminar in Hyderabad is a shaped massive structure with four
minarets.
Ans 1. square
X 2. dome
5 3. cylindrical
#5 4. rectangular
Question ID : 264330106244
Option 1 ID : 264330417280
Option 2 ID : 264330417277
Option 3 ID : 264330417278
Option 4 ID : 264330417279
Status : Answered
Chosen Option : 1
Q.35 Chandragupta Il got his daughter married into which of the following dynasties?
Ans  # 1. Vakataka dynasty
/5 2. Naga dynasty
#5 3. Shunga dynasty
#5 4. Pushyabhuti dynasty
Question ID : 264330118959
Option 1 ID : 264330466492
Option 2 ID : 264330466493
Option 3 ID : 264330466494
Option 4 ID : 264330466491
Status : Not Answered

Chosen Option :




Q.36 How many fundamental duties were added in the Indian Constitution in 1976?

Ans X 1.8
&< 2.9
&< 3.1
o 4.10
Question ID : 264330113378
Option 1 1D : 264330445599
Option 2 ID : 264330445597
Option 3 ID : 264330445600
Option 4 ID : 264330445598
Status : Answered
Chosen Option : 4
Q.37 Consider the following statements with respect to the limitations of the barter
exchange system.
(i) Lack of standard of deferred payment
(ii) Sufficient double coincidence of wants
(iii) Lack of store of value
Choose the correct answer.
Ans X 1. Only (iii) is true
X 2. Only (i) is true
5 3. 0nly (i) is true
«” 4. Both (i) and (iii) are true
Question ID : 264330116503
Option 1 1D : 264330458099
Option 2 ID : 264330458098
Option 3 ID : 264330458097
Option 4 ID : 264330458100
Status : Not Answered
Chosen Option : --
Q.38 YRA F Ty F FuferEa ¥ A 59 ey & fog due & Ay ggaa ok s &
Heufa &t smazawar gt 32
Ans X 1. faur uftugl & I ok Fmfor
X 2. G HPRA
X 3.7 & i e Rrgia
o 4. YU & gTd
Question ID : 264330130472
Option 1 1D : 264330511000
Option 2 ID : 264330511002
Option 3 ID : 264330511001
Option 4 ID : 264330510999
Status : Answered
Chosen Option : 3




Q.39 Which of the following countries will host the ICC T20 Men’s Cricket World Cup 20247?

Ans

5 1. West Indies and Canada
o 2. West Indies and USA

& 3. Australia and New Zealand
& 4. India and Sri Lanka

Question ID : 264330130634
Option 1 ID : 264330511648
Option 2 ID : 264330511647
Option 3 ID : 264330511649
Option 4 ID : 264330511650
Status : Answered
Chosen Option : 2
Q.40 HFRIH (monsoon)' Xeg Bt It IR Weq "HHRIA (Mausim)' A g3 7, g8 Fafif@a &
¥ frad arge 82
Ans X 1.9 (Rain)
5 2. P (Storm)
& 3. 1I9H (Season)
5 4.7a9 (Wind)
Question ID : 264330174343
Option 1 ID : 264330683792
Option 2 ID : 264330683793
Option 3 ID : 264330683791
Option 4 ID : 264330683794
Status : Answered
Chosen Option : 3
Q.41 Which of the following churches is NOT located in Goa?
Ans X 1.Reis Magos Church
& 2. Mae De Deus Church
4 3. Santa Cruz Basilica
X 4. Basilica of Bom Jesus
Question ID : 264330141818
Option 1 ID : 264330555593
Option 2 ID : 264330555594
Option 3 ID : 264330555591
Option 4 ID : 264330555592
Status : Not Answered
Chosen Option : --
Q.42 Which of the following is a violation of the 7th fundamental duty related to the
environment and wildlife?
Ans  # 1. Trafficking of wildlife animals
< 2. Work for the betterment of the wildlife
#5 3. To prohibit exploitation of protected species
& 4. Avoid pollution of water
Question ID : 264330118529
Option 1 ID : 264330465519
Option 2 ID : 264330465518
Option 3 ID : 264330465517
Option 4 ID : 264330465520
Status : Answered

Chosen Option :

1




Q.43 Who among the following Russian political leaders visited India as part of Republic

Ans

Day celebrations in the year 20077?
#5 1. Dmitry Medvedev

X 2. Boris Yeltsin
¥ 3. Vladimir Putin
5 4. Mikhail Mishustin

Question ID : 264330182991
Option 1 ID : 264330717699
Option 2 ID : 264330717698

Option 3 ID : 264330717697
Option 4 ID : 264330717696
Status : Not Answered
Chosen Option : --
Q.44 Which of the following organisations was given statutory power in 1992?
Ans X 1.LIC
& 2.IRDA
«" 3. SEBI
& 4.RBI
Question ID : 264330109420
Option 1 1D : 264330429960
Option 2 ID : 264330429959
Option 3 ID : 264330429958
Option 4 ID : 264330429957
Status : Answered
Chosen Option : 4
Q.45 On the basis of Total Population (2011), arrange the following states in descending
order?
A) West Bengal
B)Maharashtra
C) Bihar
Ans X 1.A,C,B
& 2.B,AC
& 3.AB,C
& 4.B,C,A
Question ID : 264330167032
Option 11D : 264330655131
Option 2 ID : 264330655133
Option 3 ID : 264330655134
Option 4 ID : 264330655132
Status : Answered

Chosen Option : 4




Q.46 Which of the following universities stood first at the Khelo India University Games-

202172
Ans o 1. Jain University

5 2. University of Mumbai
& 3. University of Kerala
#5 4. Jawaharlal Nehru University

Question ID : 264330113742
Option 1 ID : 264330447056
Option 2 ID : 264330447055
Option 3 ID : 264330447053
Option 4 ID : 264330447054
Status : Answered
Chosen Option : 1
Q.47 In the seventeenth century, Peter Mundy, a foreign traveller from visited
India.
Ans X 1.France
X 2. ltaly
< 3. Germany
«" 4. England
Question ID : 264330111386
Option 1 ID : 264330437629
Option 2 ID : 264330437631
Option 3 ID : 264330437632
Option 4 ID : 264330437630
Status : Answered
Chosen Option : 4
Q.48 Who launched the official jersey of the fourth Khelo India Youth Games?
Ans 1. Anurag Thakur
#< 2. Amit Shah
< 3. Narendra Modi
5 4. Nisith Pramanik
Question ID : 264330113747
Option 1 ID : 264330447074
Option 2 ID : 264330447076
Option 3 ID : 264330447075
Option 4 ID : 264330447073
Status : Answered
Chosen Option : 1
Q.49 ‘Below the Poverty Line’ Census was done in the year for the Eighth Five Year
Plan.
Ans X 1.1989
£ 2.1993
< 3.1990
o 4. 1992
Question ID : 264330183041
Option 1 ID : 264330717896
Option 2 ID : 264330717899
Option 3 ID : 264330717897
Option 4 ID : 264330717898
Status : Not Answered

Chosen Option :




Q.50 Aryabhatta is believed to be one of the greatest astronomers of the:

Ans X 1. Mauryan Period
" 2. Gupta period
# 3. Pallava period

& 4. Vardhan Period

Question ID : 264330119755
Option 1 ID : 264330469297
Option 2 ID : 264330469296
Option 3 ID : 264330469295
Option 4 ID : 264330469298
Status : Answered
Chosen Option : 2
Section : Reasoning
Q.1 Select the correct mirror image of the given figure when the mirror is placed at PQ
as shown below.
P
FWM72dzH
Q
Ans
~HsbSYMW1
~HsbSYINMA
x»HsbZLMW1A
~HZPCLWN M4
Question ID : 26433080779
Option 1 ID : 264330317049
Option 2 ID : 264330317052
Option 3 ID : 264330317051
Option 4 ID : 264330317050
Status : Answered

Chosen Option :

1




Q.2 Select the correct mirror image of the given figure when the mirror is placed at MN as
shown below.

M
S5Kwé2
N
Ans M
XK1 29M)¢
v2 Sawdla
X3 ¢9MHS
X4+ Sow5K
Question ID : 264330166658
Option 11D : 264330653672
Option 2 ID : 264330653673
Option 3 ID : 264330653671
Option 4 ID : 264330653674
Status : Answered
Chosen Option : 2
Q.3 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.
FREE : EPBA :: MORE : LMOA :: BURN : ?
Ans X 1.AROJ
X 2.ASPK
«" 3. ASOJ
& 4. ASOK
Question ID : 26433076456
Option 11D : 264330299891
Option 2 ID : 264330299890
Option 3 ID : 264330299888
Option 4 ID : 264330299889
Status : Answered
Chosen Option : 3
Q.4 Select the option that is related to the third term in the same way as the second term is
related to the first term and the sixth term is related to the fifth term.
40:9::100:?::50: 11
Ans X 1.42
& 221
& 3.51
&K 4.20
Question ID : 264330101044
Option 1 ID : 264330396722
Option 2 ID : 264330396724
Option 3 ID : 264330396723
Option 4 ID : 264330396721
Status : Answered
Chosen Option : 2




Q.5 Find out the figure amongst the four option in which figure X is embedded (Rotation is
not allowed)

8

Ans

1%

X4

)

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :
Chosen Option

1264330121469

264330476060
264330476061
264330476059

: 264330476062

Answered

1




Q.6 Select the option that is embedded in the given figure (rotation is NOT allowed).

Ans

~ 2.

ST

Question ID : 264330106418
Option 11D : 264330417975
Option 2 ID : 264330417974
Option 3 ID : 264330417976
Option 4 ID : 264330417973
Status : Answered
Chosen Option : 1




Q.7 A square transparent sheet with a pattern is shown in the given figure. Find out from

Ans

amongst the following options, as to how the pattern would appear when the
transparent sheet is folded at the dotted line.

] e
L ]

] e

H
ad

-

renray

[ STEE——

srmassnand

| F—

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330108979
264330428196
264330428195
264330428193
264330428194
Answered

4

Q.8 Which two signs should be interchanged to make the given equation correct?

Ans

87x2-80+8+160=4

X 1. +and -
o 2. +and =
& 3. +and x
K 4.+and =

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433085738
264330336655
264330336654
264330336653
264330336656
Answered

2




Q.9 Select the option figure which is embedded in the given figure (X) as its part. (rotation
is NOT allowed).

@

(X)

Ans

vl

X 4.

054

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330112982
264330444013
264330444015
264330444016
264330444014
Answered

3




Q10 gelect the figure from the options that can replace the question mark (?) and

Ans

complete the given pattern.

Question ID :

Option 1 ID

Status

26433082912

1264330325483
Option 21D :
Option 31D :
Option 4 ID :

264330325482
264330325484
264330325481

: Answered
Chosen Option :

3




Q.11 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some trees are rivers.

Some rivers are mountains.
Conclusions:

|. Some mountains are trees.
1l. All mountains are trees.

Ans X 1. Only conclusion Il follows
5 2. Only conclusion | follows
" 3. Neither conclusion | nor Il follows

5 4. Both conclusions | and Il follow

Question ID : 26433068286
Option 1 ID : 264330267657
Option 2 ID : 264330267656
Option 3 ID : 264330267659
Option 4 ID : 264330267658
Status : Answered
Chosen Option : 3
Q.12 Select the number from the given options that can replace the question mark (?) in the
following series.
1,2,8,48,384,?
Ans X 1.3456
5 2.4280
" 3. 3840
X 4.4608
Question ID : 264330106381
Option 11D : 264330417825
Option 2 ID : 264330417828
Option 3 ID : 264330417827
Option 4 ID : 264330417826
Status : Answered
Chosen Option : 3
Q.13 In a certain code language, ‘STAY’ is written as ‘65’ and ‘COME’ is written as ‘36’. How
will ‘LIST’ be written in that language?
Ans X 1.46
X 2.56
o 3. 60
X 4.66
Question ID : 26433089409
Option 11D : 264330351139
Option 2 ID : 264330351138
Option 3 ID : 264330351140
Option 4 ID : 264330351137
Status : Answered
Chosen Option : 3




Q14 gelect the figure from the options that can replace the question mark (?) and

Ans

complete the given pattern.

/N

Az

Question ID :

Option 1 ID

Option 3 ID

26433082917

1264330325503
Option 21D :

264330325502

1 264330325504
Option 4 ID :
Status :

Chosen Option :

264330325501
Answered
3




Q15 wWhich figure should replace the question mark (?) if the following series were

to be continued?

O 7 | ufo Liu T s
Lo S T|O% T 5(8 Tw OO0 L O %"+ O L O
P ulL ofu s Tl U
Ans
)T\.
& 1.|T 5 0
e
)T\
X2 |t L O
k4
X3|T s L
o
JT\
X4 |0 & O
u
Question ID : 264330103864
Option 1 ID : 264330407760
Option 2 ID : 264330407758
Option 3 ID : 264330407757
Option 4 ID : 264330407759
Status : Answered
Chosen Option : 1
Q16 How many triangles are there in the following figure?
/
//
-
Ans 4 1.16
X 2.12
X 3.20
X 4.10
Question ID : 26433076731
Option 11D : 264330300989
Option 2 ID : 264330300990
Option 3 ID : 264330300991
Option 4 ID : 264330300988
Status : Answered

Chosen Option :

1




Q.17 Six letters S, T, M, P, H and Q are written on different faces of a dice. Two positions of

this dice are shown in the figure. Find the letter on the face opposite to P.

S 1 [ M
P T H T
Ans X 1.S
K 2.M
K 3T
o 4. H
Question ID : 264330129792
Option 1 ID : 264330508401
Option 2 ID : 264330508400
Option 3 ID : 264330508402
Option 4 ID : 264330508399
Status : Answered
Chosen Option : 4
Q18  Following question consists of 4 figures marked A, B, C and D called
the Problem Figures followed by 4 other figures called the
Answer Figures. Select a figure from amongst the Answer Figures which will
continue the same series as established by the four Problem Figures.
A B C D E
A’ V||® Alle ¢fA ’b' 9
© Aa -
o alla V|V Al|lA ©
"o [ay
X ]
x2| A
X 3 (@] *
vo| A
Question ID : 264330110535
Option 11D : 264330434417
Option 2 ID : 264330434418
Option 3 ID : 264330434420
Option 4 ID : 264330434419
Status : Answered
Chosen Option : 4




Q.19 Six numbers, 7, 8, 9, 10, 11 and 12 are written on different faces of a dice. Three
positions of this dice are shown here. Find the number on the face opposite 7.

Ans 1.9
X 2.1
X 3.10

X 4.8

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330106397
264330417890
264330417892
264330417891
264330417889
Answered

1

Q.20 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans X X
o O
oo
X1 o0
03 =)
X X
X X
e OO @
X2 e EO @
X X
X X
o o
° °
q/3.. 4
O O
b 4
® xx ®
0o o
X 4.
3 B
e XX @

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330112985
264330444025
264330444028
264330444026
264330444027
Answered

3




Q.21 Select the set in which the numbers are related in the same way as are the numbers of

Ans

the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking

down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as

adding/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1

and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(84, 73, 157)
(96, 88, 184)

o 1.(89, 62, 151)
X 2.(88,79,191)
X 3.(99, 71, 160)
X 4.(92, 75, 147)

Question ID : 264330175607
Option 11D : 264330688749
Option 2 ID : 264330688750
Option 3 ID : 264330688747
Option 4 ID : 264330688748
Status : Answered
Chosen Option : 1
Q.22 Six students are sitting around a circular table facing the centre. Kalki is an immediate
neighbour of both Oorja and Namita. Leela is sitting second to the left of Oorja. Padma
is sitting second to the right of Kalki. Madhuri is sitting third to the right of Namita.
Who is an immediate neighbour of both Kalki and Padma?
Ans 1. Namita
X 2. Leela
#5 3. Oorja
5 4. Madhuri
Question ID : 264330110715
Option 1 ID : 264330435140
Option 2 ID : 264330435137
Option 3 ID : 264330435138
Option 4 ID : 264330435139
Status : Answered
Chosen Option : 1
Q.23 Which of the following terms will replace the question mark (?) in the given series?
CVHT, FSJR, IPLP, ?, OJPL
Ans X 1.MLNM
& 2. LNMN
«" 3. LMNN
X 4. KMNM
Question ID : 264330102173
Option 11D : 264330401158
Option 2 ID : 264330401159
Option 3 ID : 264330401157
Option 4 ID : 264330401160
Status : Answered
Chosen Option : 3




Q.24 Tn the equation given below, which 2 signs need to be interchanged so that it is

balanced?

1

3

12—5+50x30=50

Ans X 1.+and x
o 2. xand -
X 3.+and -
X 4. +and x
Question ID : 26433085648
Option 11D : 264330336296
Option 2 ID : 264330336294
Option 3 ID : 264330336295
Option 4 ID : 264330336293
Status : Answered
Chosen Option : 2
Q.25 Select the figure that will replace the question mark (?) in the following figure series.
Ans
" !:
Question ID : 264330112025
Option 1 ID : 264330440185
Option 2 ID : 264330440187
Option 3 ID : 264330440188
Option 4 ID : 264330440186
Status : Answered
Chosen Option : 2




Q.1 Three metallic spheres are of the radius 6 cm, 8 cm and 10 cm, respectively. If they are
melted to form a single solid sphere, then the radius of the resulting sphere is:

Ans X 1.48cm
X 2.24cm
o 3.12cm
X 4.36cm

Question ID : 26433082625
Option 1 1D : 264330324336
Option 2 ID : 264330324333
Option 3 ID : 264330324334
Option 4 ID : 264330324335
Status : Answered
Chosen Option : 3

Q.2 Akash can finish a work in 18 days, while Navin can finish the same work in 36 days. If
they work together to finish the work, find the portion of the work done by Navin.

Ans v 1
3

x2 2

5

xa L

2

x4 2

3

Question ID : 264330103994
Option 1 1D : 264330408278
Option 2 ID : 264330408280
Option 3 ID : 264330408279
Option 4 ID : 264330408277
Status : Answered
Chosen Option : 1

Q.3 A student misread the number 97 as 79 while doing a calculation. Find the percentage
increase or decrease in his calculation.

Ans X 1.19% decrease
& 2.19.55 % increase
«# 3. 18.55% decrease
& 4. 18% decrease

Question ID : 264330109240
Option 1 ID : 264330429239
Option 2 ID : 264330429240
Option 3 ID : 264330429238
Option 4 ID : 264330429237
Status : Marked For Review
Chosen Option : 3




Q.4 Susan sold her used mobile phone for ¥4,800 and felt that she incurred a loss of 20%.

To earn a profit of 12%, at what price should it have been sold (in ¥)?

Ans X 1.6,000
& 2.6,520
o 3.6,720
X 4.6,780
Question ID : 264330183831
Option 1 1D : 264330721000
Option 2 ID : 264330721001
Option 3 ID : 264330721002
Option 4 ID : 264330721003
Status : Answered
Chosen Option : 3
Q.5 The population of a village increases by 3% per year. If the current population is
75,556, then find the population of the village after 3 years (neglect the decimal part).
Ans 4 1.82562
K 2.82563
X 3.82526
X 4.85262
Question ID : 264330104262
Option 11D : 264330409350
Option 2 ID : 264330409349
Option 3 ID : 264330409352
Option 4 ID : 264330409351
Status : Answered
Chosen Option : 2
Q.6 The annual salary of Aprajita is 150% of Sonia’s annual salary. Sonia’s salary rises by
20% after an increment, whereas Aprajita’s salary increases by 12%. If the initial salary
of Sonia was %6,00,000, then what is the salary of Aprajita (in ¥) now after a hike?
Ans 4 1.10,08,000
25 2.9,00,000
< 3.1,08,000
5 4.7,20,000
Question ID : 264330112208
Option 1 ID : 264330440920
Option 2 ID : 264330440919
Option 3 ID : 264330440917
Option 4 ID : 264330440918
Status : Answered

Chosen Option :

1




Q.7 The HCF of two numbers is 33 and their sum is 594. Find the total number of such
possible pairs of numbers.

Ans X 1.5
2.3
&K 3.2
&K 4.4
Question ID : 264330104214
Option 1 ID : 264330409157
Option 2 ID : 264330409160
Option 3 ID : 264330409159
Option 4 ID : 264330409158
Status : Answered
Chosen Option : 3
Q.8 The largest 3-digit prime number is:
Ans X 1.987
o 2.997
< 3.983
&K 4.991
Question ID : 264330104484
Option 1 1D : 264330410239
Option 2 ID : 264330410238
Option 3 ID : 264330410240
Option 4 ID : 264330410237
Status : Marked For Review
Chosen Option : 2
Q.9 The marked price of an LED is ¥9,000. The shopkeeper allows a discount of 25% and
gains 8%. If no discount is allowed, his gain percentage will be:
Ans 1. 44%
X 2. 42%
XK 3. 46%
X 4. 40%
Question ID : 264330109534
Option 11D : 264330430415
Option 2 ID : 264330430414
Option 3 ID : 264330430416
Option 4 ID : 264330430413
Status : Answered
Chosen Option : 1




Q10 1fboth the radius and height of a right circular cone are increased by 25%, its

volume will be increased by: (Approximation up to two decimal points) (Where = %)

Ans

X 1. 90.31%
2. 93531%
& 3. 79.55%
X 4. B5.33%
Question ID : 264330106490
Option 11D : 264330418262
Option 2 ID : 264330418264
Option 3 ID : 264330418263
Option 4 ID : 264330418261
Status : Answered
Chosen Option : 2
Q11 IfP: (Q+R)=2:5andR: (P+Q)=6: 7, then find the value of Q: (P + R) .
Ans X 1.23:59
&K 2.23:37
" 3.23:68
&K 4.23:29
Question ID : 264330130092
Option 1 ID : 264330509602
Option 2 ID : 264330509601
Option 3 ID : 264330509599
Option 4 ID : 264330509600
Status : Not Answered
Chosen Option : --
Q.12 7 .
79 - is equivalent fo:
Ans X 1.79.0175
X 2.79.185
/5 3.79.085
o 4.79.175
Question ID : 264330111441
Option 1 ID : 264330437850
Option 2 ID : 264330437852
Option 3 ID : 264330437851
Option 4 ID : 264330437849
Status : Answered

Chosen Option :

1




Q13 A woman invests Z85,000 at a rate of 7; % per annum simple interest for 4 years.

What is the amount that she will receive after 4 years?
Ans  «# 1.%1,10,500
5 2.%69,600
< 3.%75,000

& 4.%1,08,750

Question ID :
1 264330715890
Option 21D :

Option 1 ID

Option 3 ID

Status

264330182524

264330715887

1264330715889
Option 4 ID :

264330715888

: Answered
Chosen Option :

1

Q.14 A boat having a speed of 30 km/h in still water goes 60 km downstream and comes

back in 4 hours 30 minutes. The speed of the stream is:

Ans X 1.20 km/h
" 2. 10 km/h
#5 3.30 km/h
& 4.25 km/h
Question ID : 264330183827
Option 1 ID : 264330720984
Option 2 ID : 264330720985
Option 3 ID : 264330720986
Option 4 ID : 264330720987
Status : Answered
Chosen Option : 2
Q.15 In 5 subjects of 100 marks each, a student gets an average of 62 marks and his
average in the first four subjects is 5 less than the marks in the fifth subject. How
many marks does he get in the fifth subject?
Ans  # 1.66
& 2.64
& 3.65
X 4.63
Question ID : 264330112065
Option 1 ID : 264330440345
Option 2 ID : 264330440347
Option 3 ID : 264330440346
Option 4 ID : 264330440348
Status : Answered

Chosen Option :

1

Section : Computer Proficiency




Q.1
Ans

In MS Excel 365 which of the following will be used to print a spreadsheet?
& 1. Home -> open

4 2. File -> print
< 3. View -> print

& 4. Layout -> print

Question ID : 264330178257
Option 1 ID : 264330699085
Option 2 ID : 264330699084
Option 3 ID : 264330699083
Option 4 ID : 264330699086
Status : Answered
Chosen Option : 3
Q.2 Which of the following is a type of network that allows users from outside to access
the Intranet of an organisation?
Ans X 1.Internet
#5 2. Double Intranet
& 3. Externet
" 4. Extranet
Question ID : 264330180392
Option 11D : 264330707535
Option 2 ID : 264330707536
Option 3 ID : 264330707538
Option 4 ID : 264330707537
Status : Marked For Review
Chosen Option : 4
Q.3 Which of the following functions is executed if shortcut key Ctrl + | is used in MS Word
3657
Ans " 1. Make the text italic
< 2. Strike through the text
/5 3. Bold the text
5 4. Underline the text
Question ID : 264330180427
Option 1 ID : 264330707678
Option 2 ID : 264330707677
Option 3 ID : 264330707675
Option 4 ID : 264330707676
Status : Answered

Chosen Option :

1




Q.4 Autocorrect function may be used in MS Word 365, for grammar and spell-check and it
is available through:

Ans X 1. File=>Options=>Language

X 2. File=>Options—>Display

« 3. File=>Options—=>Proofing
X 4. File=>Options—=>General

Question ID : 264330177683
Option 11D : 264330696848
Option 2 ID : 264330696850
Option 3 ID : 264330696847
Option 4 ID : 264330696849
Status : Answered
Chosen Option : 3
Q.5 In MS Excel 365, which of the following is a shortcut key to open a new spreadsheet in
MS Excel?
Ans X 1.Alt+N
&K 2.At+0
X 3.Ctrl+0
o 4.Ctrl+ N
Question ID : 264330180400
Option 11D : 264330707570
Option 2 ID : 264330707568
Option 3 ID : 264330707569
Option 4 ID : 264330707567
Status : Answered
Chosen Option : 4
Q.6 You can change how MS Word 365 corrects and formats your text for spelling and
grammatical errors by going to File -> Options -> _and .
Ans X 1.Font settings
«" 2. Proofing
25 3. Page layout settings
/5 4. Page size settings
Question ID : 264330182346
Option 1 1D : 264330715208
Option 2 ID : 264330715207
Option 3 ID : 264330715209
Option 4 ID : 264330715210
Status : Answered
Chosen Option : 2




Q.7 What does ‘CC’ stand for in the context of email?
Ans X 1. Confidential Content

#5 2. Compose Check
«# 3. Carbon Copy

5 4. Centralised Communication

Question ID : 264330178543
Option 1 ID : 264330700201
Option 2 ID : 264330700202
Option 3 ID : 264330700200
Option 4 ID : 264330700199
Status : Answered
Chosen Option : 3
Q.8 In MS Excel 365, which of the following is the correct formula to calculate the average
of the values in cells A1 to A10?
Ans " 1. =AVERAGE(A1:A10)
& 2.=SUM(A1:A10)/10
X 3. =AVERAGE(10*A1)
25 4. =SUM(A1:A10)/100
Question ID : 264330178565
Option 1 ID : 264330700287
Option 2 ID : 264330700288
Option 3 ID : 264330700289
Option 4 ID : 264330700290
Status : Answered
Chosen Option : 2
Q.9 Which of the following shortcut keys is used to switch to print preview in MS Word
20167
Ans X 1.Page Down
K 2. Ctrl+P
& 3. Page UP
o 4. Ctrl+Alt+]
Question ID : 264330178599
Option 1 ID : 264330700426
Option 2 ID : 264330700424
Option 3 ID : 264330700425
Option 4 ID : 264330700423
Status : Answered
Chosen Option : 2
Q.10 What is the primary purpose of creating a table in a word processing document?
Ans X 1.To add decorative elements and enhance the visual appeal of the document.
< 2. To change the page orientation and adjust the margins of the document.
#5 3. To apply different fonts and colours to the text within the table.
" 4. To organize and present information in a structured and easy-to-read format.
Question ID : 264330173331
Option 1 ID : 264330679803
Option 2 ID : 264330679806
Option 3 ID : 264330679805
Option 4 ID : 264330679804
Status : Answered
Chosen Option : 4
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